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1. Tl — 85 % 7 42 X 69 1@ A% (general solution) & y = [+ xe" + Cxe™ » £ ¥ C B & ¥ 22

(A w'+(x=1)y* =x*e"; (B) 209"+ (x=1)y* =x%e”; (C) ' +(x=1)y* =x%"; (D) QRx+1)y' +x*y* = xe".

2. Zy'+6y' +13y=089i8 & y=e"(C cosbx+C,sinbx) » E P CHC, BIEEFH » Bla+b="?
@A 2 B 3 © 4 D s
3. FIIM—AMy FREX @SSy =x"[C cos(lnx)+C,sin(3lnx)] » £ C FC, AAEE F RO
(A) X*p"+50"+13y=0; (B) 4x°y"+xy'+y=0; (C) y"+4y' +13y=0; D) y'+x'+y=0.
4. Zy,(x) AsFiX y -2y -3y =3¢ #9457 AR (particular solution) » & y,(0)=?
A -, B 0, (© 1, DO 2
5. F 39— % ik BB 47 M 48 4K (linearly dependent)?

(A) e"Foxe™; (B) cos2xFusinxcosx; (C) Inx f= In+/x; D) x+1f21-x

6. & f(t)=(@+1)H(-1) » £+ H(r) % Heaviside & > B f(¢) Z i & $ #7 #2 3% (Laplace transform) 2 472
(A) s7(2se’ +1);  (B) s7(se™ +2);  (C) s (e +2); (D) s (e +25).

7. F(s)=se(s* +9)” Z R $r & 3 ¥ # 34 (inverse Laplace transform) 2472 (A) cos(2(r = 3)H(¢ - 3);
(B) cos(3(t=2)H(t=2); (C) cos(2(t~2)H(t-3); (D) cos(3(t—2))H(t-3).

[o0]

) /«?\f(t)=2t+.[otf(z‘—r)e"dr s B (=2 (A) € +2te'; (B) 2t+t; (C) 2Int+tInt; (D) 2cost+sint.
9. j;ta(t—?,)dm ji%(r-l)dz:? (A)0; (B)1; ()2, (D)3.

10. F #7475 R & T 4B (separable) i H #2 K2 (A) [cos(x + y)—sin(y—x)]y'=cos(2x);  (B) x’y =In(x");

(C) ey '=x*; (D) sin(x+y)y’ =cos(x—y).

11 T35 R R EA(exact) M F A7 (A) e’ cosx+1+(e’sinx-2y)y'=0; (B) e”cos(xy)+e"sin(xy)y’ = 0;

(C©) y'tanx+y In(cosx)y' =0; (D) x*+3y+(Bx+e’)y =0.

12. % y(x) Bt F KX +2y=x""e, y(~D)=e" 898 > Bly(D=? (A) ¢ (B) 2¢; (C) 3¢; (D) 4e.



13. %2f(x,y)+f2(x,y):6x+C/,%ﬁi’n\73‘$iiﬁ(l+y+2x)y'=1—2y—4xé@ﬂ% v B f(x,y)=2?
(A) x+y; (B) x—y (C) 2x+y, (D) x+2y. |

142 F, G #t H A E > 43k © K@ &84 (dot product) ~ x &k &X# (cross product) || || &1 & K I
(magnitude) > F #7444 1 (A) ¥ FE G EX > 8] | F-G[’=|F|*+|G|* B)FxG=GxF (C)FxF=|F|’
D) FxG)*F=0

152 F,G &#H 298> o A&E ik © A9 F%H (dot product) ~ x %k & X3 (cross product) » F #4e
EFHHARARNEE  (AHXxFxG) @BH*F*G (OF*GxH @{D)a*F

16. F=3i-j+2k> G=i-j-2k @& F #1 G 4% (A)30° (B)45° (C)60° (D)90°

17.F=i-j+3k> G=4i-j-k &% F 1 G 4%#%4 (A)-2 (B)0 (C)2 (D)4

18 F=i+2j+k’ G=2i+j+k  #

FxG=v10a+b » 4 a 3 b A 10 ELEHH 0 Bl atb 2
(A 2 B)7 ©11 (D)14

19.F=i-2j-2k,G=-3i+2j+k, H=-i-3j+2k'F, G B H AW R FT <&M ey 8 A 24 100a+10b+c> £+ a0, b 81
c B/ 10 ey EEB K0 B a+b+ch (A)S B)7 (C)16 (D)17

20. & B o, y)=xtxy > Hh (L,1) 9B EGES Vo(l,)=ai+bj 8l a+b & (A)-5 B)-2 (C)3 D)9

21 FHTA SR ¢ (A) #5# I (Green’s Theorem) ANF & L B4 PAG S a8/ (B) &8 E % 72 (Gauss’s
Divergence Theorem) A7 2 ¢ EH Mt @mey @A (C) 3¢ % % 7 (Stokes Theorem) Fn 72 i & i B 4
Pl gk e 6245 % (D) & & X A8 (cross product) =T A k3t B h $HnsepntEeazh o

22. B EHB () =20+12j— Pk % F() =] BSey1d B A ai+bj+ck > Bl atb+c
(A) 0 (B)5 (C)12 (D)13

23. &% Floyz) =yi+2j+ek A Vo (VxE)= (A)-4 (B)0 (C)52 (D)2j+ek

24 —BEEAF =20+ Gx—2N %R > REBEYQBRERLS (0,0), (20), (23) £ (03) GEFHER—F -
KN H GBS A (A)S3 B)T4 (C)3 (D)6

25.% f(ry,2) 0 B T BAF@z=2x-2y £0sx<L0<y<28%4 M@ || f(ry.20do ="
(A) -6 (B)-3 (C)2/5 (D)8



